Name Date

[Calculate the Value of Log Operations Problems - Matching Worksheet]

Write the letter of the answer that matches the problem.

—— 1. Calculate the value of: logz 128 + log2 32 a. 10

_— . Calculate the value of: logz 2'* + log2 16 85
_— . Calculate the value of: logz 16 - log2 8 12
_ . Calculate the value of: logz 27° + log2 256 36
_— . Calculate the value of: logio 10'2 - logi0 100 2

B . Calculate the value of: logz V2160 + log, 32 18
- . Calculate the value of: logs 34°—log; 81 34
_ . Calculate the value of: logs 125 + logs 53! 45
_— . Calculate the value of: logs 256 — logs 16 1

——— 10. Calculate the value of: log:z 239 + log, 64 78
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